Log Rules

636/584-6688

General_tutoring@eastcentral.edu



Definition of a Logarithm			
Exponent $\log_{b}(\mathbf{x}) = \mathbf{y} \iff (\text{is equivalent to})$ $\mathbf{b}^{\mathbf{y}} = \mathbf{x} \iff \text{``log base b of x equals y (the exponent)''}$ equals $\log_{b}(\mathbf{x}) = \mathbf{y} \implies \Leftrightarrow \text{``b to the } \mathbf{y} = \mathbf{x}^{''} \iff \mathbf{b}^{\mathbf{y}} = \mathbf{x}$			
to the			
log ₂ (4) = y	$\Rightarrow 2^{y} = 4 \iff 2^{y}$	$y = 2^2 \therefore (th)$	erefore) y = 2
<u>Common Log</u> log (x) = log ₁₀ (x)		$\frac{Natural Log}{\log_{e} (x) = \ln (x)} \qquad e=2.7182818$	
	Inverse	? Rules	l (-) 1
$10^{\log_{10}(x)} = x **$	$e^{\operatorname{III}(\chi)}$	= x	$\ln(e) = 1$
$log_{10}10^x = x$	$\ln(e^x)$) = x	$\log 10 = 1$
$log_b b^x = x$			$log_b b = 1$
Other Facts			
$log_b(0) = undefined$	$log_b(1$	() = 0	Domain of $log_b(x)$ is $x > 1$
Properties			
Product Rule	$\log x + \log y = \log$	$(x \cdot y) \qquad \Leftrightarrow \qquad$	$\log(x \cdot y) = \log x + \log y$
Quotient Rule	$\log x - \log y = \log y$	$g\left(\frac{x}{y}\right) \qquad \Leftrightarrow \qquad$	$\log\left(\frac{x}{y}\right) = \log x - \log y$
Power Rule	$p \ log_b x = log_b$	$x^p \qquad \Leftrightarrow \qquad$	$log_b x^p = p \ log_b x$
Change of Base Rule	$\log_b x = \frac{\ln(x)}{\ln(b)}$) or	$\log_b x = \frac{\log(x)}{\log(b)}$

**log(x²)=25 10^{log(x^2)}=10²⁵ X²=10²⁵